
1

G

11

1

A

C
C

3

3

33

3

3

1

2

2
F

1
2

2

2 2

E
2

1

H

1
2 2

7

6

B

5

1,01 m
(1m mini)

55 x 100 x 981 mm

1740083 1740052
1740069 1740106 1740090

Ø10 x 2000 mm

40 x 40 x 2000 mm

40 x 40 x 39 mm

40 x 40 x 39 mm

60 x 80 x 115 mm

M10 x 16 mm

M10 x 20 mm

Ø 10.5 mm

Ø 4 x 30 mm

M3x 10 mm

3 g

Ø 4.5 x 30 mm

Ø 10 x 32 mm

Ø 8 x 50 mm

Ø 10 x 14 mm

x 5 x 10

x 12

x 11

2

3

4

5

6

7

8

A

B

C

D

E

F

G

H

I

J

x 1

x 1

x 1

x 1

x 2

x 2

x 2

x 5

x 5

x 10

x 5

x 1

x 1

2380

maxi

110
mm

maxi 950mm

1

8

m
in

i 8
0 

m
m

maxi

110
mm

maxi 950mm

1

8

1

I
J

x 4

Ø 3mm

réf. 174052 • 1740069 • 1740076 MAJ 24/08/2023 1/2

ref. 1740052 & 1740069

MONTAGEANLEITUNGDE

>1m

MISE À LA NORME

non inclus.
nicht enthalten.

ANPASSUNG AN DEN NORMENDE



Ø 3.5mm

1

1

G

11

1

A

CC

3

3

3

33

3

3

1

2

2
F

1
2

2

2 2

E
2

1

H

1
2 2

7

6

B

5

D

1

3

4

B

1,02 m
(1m mini)

55 x 100 x 981 mm

1740083 1740076 1740106 1740090

Ø10 x 2000 mm

40 x 40 x 2000 mm

40 x 40 x 4 mm

40 x 40 x 39 mm

40 x 40 x 39 mm

60 x 80 x 115 mm

M10 x 16 mm

M10 x 20 mm

Ø 10.5 mm

M6 x 10 mm

M3x 10 mm

3 g

Ø 4.2 x 19 mm

Ø 10 x 32 mm

Ø 5 x 20 mm

Ø 8 x 50 mm

Ø 10 x 14 mm

x 5 x 10

x 4

x 6

x 11

2

3

4

5

6

7

8

A

B

C

D

E

F

G

H

I

J

x 1

x 1

x 1

x 1

x 2

x 2

x 2

x 2

x 2

x 5

x 5

x 10

x 5

x 1

x 1

maxi

110
mm

maxi 950mm

1

8

m
in

i 8
0 

m
m

maxi

110
mm

maxi 950mm

1

8

1

I
J

x 4

réf. 174052 • 1740069 • 1740076 MAJ 24/08/2023 2/2

ref. 1740076

MONTAGEANLEITUNGDE

2380

>1m

MISE À LA NORME

non inclus.
nicht enthalten.

ANPASSUNG AN DEN NORMENDE


